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Maths Paths in Europe  - Lesson Plan
	Category: Maths in the Shops

	Year Group: Year 6 ( 10 and 11 years old )


	Learning Objective:

Identify and use appropriate operations (including combinations of operations) to solve problems involving numbers and quantities, and explain methods and reasoning


	Success Criteria:

· Perform calculations with four operations.
· Solve problems with numbers and quantities.

· Explain reasoning and methods.




	Lesson Description (including context) :

Children are challenged to see which amounts of money can be created using a new set of coins.



	Resources:

None



	Differentiation:  
Sheet with possible values could be given to less able to support identification of quantities that can be made.

More able could be given a different set of coins. ( 7p and 10p ? )



	Introduction: 
Write on the board: 3 5 Quickly rehearse the multiplication tables for 3 and 5 with the whole class. 

Q: What numbers appear in the 3 and the 5 times tables? Divide the class into two groups. Set one group to count in 3s, the other to count in 5s to generate the sequence: 3, 5, 6, 9, 10, 12, 15, … 

Q: What numbers do not appear in the sequence? Why? Establish that only multiples of 3 or 5 (or both) can be in the sequence. Draw on the board: Ask the children to imagine that, as from today, the Government has decided it will issue only 3p and 5p coins. 

Q: What sums of money can we make using only 3p and 5p coins? Quickly collect responses and record on the board. 

Q: Can you make 4p? Establish that 4p cannot be made. 

Q: Does this mean we could not buy anything that costs 4p? Discuss ideas.


	Main Lesson

Tell the children that you want them to think about how they could pay for goods if they could only use 3p and 5p coins.

 Q: How could you pay for a 2p sweet? Establish that you could give 5p and get 3p change. 

Q: How could you pay for an item costing 29p? Collect and compare answers. 

Q: What method of payment involves fewest coins changing hands? 

Q: How would you pay for a 49p can of cola? Collect and compare answers. Ensure that the children understand the nature of this problem. Point out that 49p is 20p more than 29p and that one way of solving this problem is to build on the answer from the previous question.
Ask children, in pairs, to explore how they would pay for goods costing different amounts, and to look for patterns. Stop the class and discuss their observations. 

Draw out that they are using and combining multiples of 3p and 5p. Write the following statement on the board. ‘Using only 3p and 5p coins, you can pay for goods of any price.’ 

Ask children whether they think this is true or false. Let the children work in pairs to explore the statement. 

Stop the class and ask the children whether they have changed their views and, if so, why. Write, in a column, on the board: 1p, 2p, 3p, 4p, 5p, 6p, 7p, 8p, 9p, 10p. 

Q: Which of these amounts can you pay? Fill in the obvious amounts, such as 3p, 5p, 6p, 9p and 10p, and 2p from earlier. 

Let the children work on the remaining amounts. 

Invite children to write their answers on the board. Ensure that each amount has an answer.


	Plenary
Q: Can we pay for goods costing 10p, 20p, 100p, 200p …? 

Establish that only 5p coins will be needed. 

Q: How can we pay a bill of £4.67? Explain that £4.67 is equivalent to 400p + 60p + 7p. Say that we can pay the 400p and 60p with just 5p coins. 

Q: How could we pay the 7p? Return to the list on the board, to establish that the 7p could be paid by giving 10p (2 × 5p) and receiving a 3p coin in change. 

Ask the children to think how they might convince someone that you can pay for goods of any price using only 3p and 5p coins. 

Collect their reasons and explain that communicating and reasoning are important skills in mathematics.
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